1.

2x23x 2" =128 A u, x 2] Zt2?

@ 1 @ 2 @3

@ 4

2x 23 x 2% =21 x23 x2¥=94tr 128 =
4+ x =70t} wEhA x = 3 ot}

27 olBZ




2.

729

O& T &2 A2

Mo

@O 5x2=320 4 o, a =5 °Jr}.
@ 32x5" =225 o, b=3 0|t}
@7x30=189%1'ﬂ1,c=301ﬂr.
@ 2¢x52=100 ¢ o, d = 3 o[t}

® 22x3°=108 & |, ¢ =2 O|T}.

~&B

D5x29=320 4 1}, 320=25%x5,a=6
@ 32x5" =225 L 1,225 =32 x 5%, h=2
@Tx3 =189 L W, 189 =33%x7,c=3
@ 29x5%2 =100 & W,100 = 22 x 52 ,d =2
®22x3 =108 € ,108=22x33,e=3




3.

312 =81 wj, x°f & F5HH?

D1 @ 2 @3




4.

Lo

22x X 23x — (22)2 X ¥
25x — 2x+4

Sap=1




5 = &
ot
[e)
=%
<Q
2o
35 7 e
) e A
32 |
) p— ‘—(?
.32—3 .
=0
@
23
2+24
X 2 i
(C)) @ =93

®
a
+
a—+
a
=3a

32 0
g 32 —
_32—2
:30 —
1o]tt




6.

323 = 3x+l — 943 of| A x 9]

@ 3 @ 4

#2?

® 6

@7

5)9

32x—3—(x+1) — g4 _35
Lox—4=5 SLox=9




¥’

@ xb

ﬂ/-

B

e y

o ® |

pn .

~ |

el <

~ < =

R

s @ "
L ._.

<t

& ux
W

S— -_.
. _ . o 0

< = ],

—

S—






9.

27° + 37" = 3° A W, n o] F27

® -2 @ -1 ® 0

@1

5)2

(3%)°+3" =350|BR 15-5n=5
L n=2




@ (-3x)% = 9x?
@(—3ab2)2 = —9ab

@ (-
(=3ab?)? = 9a?b*




11, (xPy2)? = x12y10z¢ Al a + b + ¢ ©] 3F2?

@12 ou 01 @18  ©

~&B

x3byabb — y12)16 ¢

i)3b=12 b=4
i) ab=16, 4a=16, a=4
m)b=c, c=4

W&t g+ b+ ¢ = 12 ot}




12. oo le\—a, b c ol st (xy’z

@® 2 @ 4 @6

)

= x0y12718 o

@ 12

1 SR 7Py

® 18

(xayb ) — yadybdzed _ (612,18
ad =6, bd =12, c¢d = 18

d £ 6, 12, 18 o] Ftj-Ff=
.d=6




2.)3
gy;};’" Z;—: Ao, m—n 2 2?

® -2 )2 ® 4 @ 5




oy
x1260 16

. 24—-6b=6,12—-6a =06
a=1

b=3

“b-a=2




15. o= A& WSk 2 o] AA n o Hi5to], n—a+-2b—c o] F27

(xayb ) —x56y64188

®-2 @0 ® 4 @ ® 10

56 , 64 , 88 9] Z|tfj-g k4= § o|t.
gt n=89°l1,a="7, b=38, c =11 °|t}.
OHE2 n—ag+2b-c=8-7+16-11 =6 o[tk




16.

@ 3

@)4







18. 5%+ 5%+ 5% + 5% + 52 7S] e H?

©5x+1 @ 55x @ 25% @ 5x+2 @ 5x+3

B =Bt




19. ©he & A A3t Ui dat o sk

@ (a®)? +a? @ a®xa?

® axa® @.)a2—|—aQ—|—az—|—a2
1

® §a2(a2—|—a2)

@Da’+a’+a’+a*=4a> 011 O, D, B}, Ot dtolB2 =
sttt o,




20. X
56 + 56 + 56 + 56 + 56 26 + 26

A0 (2 L& s)eprSoltt)
m

@ 6 @9 (@)11 @ 16 ® 17

36 + 35 4+ 36 49445 +45 44 g
+3+ = () 2wl

B

GO e =T g =
56 + 56 1 56 4 56 4 56 — 56 x 5 = 57
46 4 49 1 49 4 45 — 45 x4 = 47
26 4 26 — 26 % 9 = 27
36 4 36 4 36 45 4 45 4 45 4 46
56+ 50 1 50 + 50 156 26420

-Zx5-()<(3)
T 57T T 927 \5 2

(&) - ()

n 6

“m 5
m+n=5+6=11




9" x 2431 + 320 = 32 x 291 x 33 = 3
_ 33n X 29n
— B 0
— 0y8




22,

2 = x 9w, 320 & x O] ABAFOR vk vehgl 2.2

O x»? @ x* @ i @ x8 (@)xm

326 — (25)6 — 230 — (23)10 — xlO




23. 25x5" x 70 nAY o AL W, n 9 ZH2?

@5 @7 @8 @ 10 ® 12

2x5=1002=&
(2x5)5x52x7=175x10°
T n=2_8




24.

42 = gt ol x O] 27

o2 @ ® 6 @ 8

® 10

B

(22)4x+2 — (23)2x+4
28x+4 — 26x+12
8x+4=06x+12

L x=4




25, 2xtd — 42x-1 o] /B]E]ag]_

oo, x o] F2?

v @1 @2 @ 4

B

2x+4 = 22(2x—1)
x+4=2(2x-1)
3x=6

SoX = 2




